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Calendar Math X-Men Factoring
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8.3 Angles of Elevatioh and Depression (G-.SRT.8, pg 286)
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Ex1) You are st:anding 196 feet from the base of
an office building downtown in SLC. The angle
of elevation to the top of the building is 65°.

FInd the height of the building.
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EX2) John is standing on the roof of a building
that is 300 feet tall and sees Sarah on the
ground. If the angle of depression is 60°, how
far away is Sarah from John?
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Ex3) A kite has 25 feet of string. The wind is
blowing the kite to the west so that the angle
of elevation is 40°. How far has the kite
traveled horizontally?
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Ex4) A sledding run is 400 yards long with a
vertical drop of 40.2 yards. Find the angle of

depression of the run.
G2
10D

)
44 .2
SIn i~
g5

Mar 30-7:26 AM



	Page 1
	Page 2
	Page 3

